	Group Quiz 2
Dusty Wilson 

Math 115
No Calculators
	______________________________________

______________________________________

______________________________________

I think therefore I am.
Rene Descartes (1596 – 1650)
French philosopher and mathematician


1.) Find the intercepts and vertex of the function 
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 algebraically. 
2.) If 
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, find 
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 and its domain 
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.  Express the domain in set notation.

3.) A rectangle is inscribed in a right triangle whose height is twice the length of its base.  Find the rectangle that maximizes the percentage of the triangle filled by the rectangle.  Give your answer as a percent and use a complete sentence.
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